C e
: “&’
OI'} 1 v F,J * JFi
‘ ®

fi e <
s
2 Eif




RECFNF Y LR FEFLE

e
%ﬁ/:/\ % 1 L, &
J N
/




éﬂl’* RikenF § £

- F PBEOR A

R RE . éﬁ‘iﬁ:y‘é

-@%i . F sk O
75 3 -T2 orank FL R . ?Pﬁ

CEE R fe A . 2 W upi i

¥ T
- LR
e £ P




< > v 2 - llg"
B Bk iE R

= 21 » 2 j‘ ‘
=(1). 7 ﬁ%ﬂ'lé‘-:*ﬁtjﬂ iy
» 5 fEHF e IR R R
™ fER4EE Bk

/. > ‘E‘:
» 2 g 3 hr. = 2L ‘

-‘ﬁ 3‘3 —,;L B

wal




24 A

®https://www. youtube. com/watch?v=eub1WJeinw



https://www.youtube.com/watch?v=eu6i7WJeinw
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With length 2.5
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With length 2.5
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v X w = Area of parallelogram
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With length 2.5

Perpendicular to
the parallelogram

»;(vV2w3-v3w2)+j(vIw3-viwl)+k(viw2-vZwli)
vZw3—v3iwZ
» 2 £ (ai+bj+ck) =|viw3—v3wl
viwZ2—vZwl]




